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Decimals: Worksheet -10 

1. Ramesh bought vegetables from the market weighing 15 kg in all. 

Out of this, 10.250 kg is potatoes and 3.500 kg is tomatoes and the 

rest are onions. Find the weight of onions.  

 

 

 

 

2. Mrs. Vykuntam bought 6.25 m of dress material for her older 

daughter and 5.75 m for the younger one. How much dress material 

did she buy for her older daughter? 

 

 

 

 

 

3. The cost of a T.V set is Rs. 8050. 45 and the cost of DVD player is 

Rs.3089.30. What is more cost of T.V. than the DVD player. 

 


